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(Examinee write answer in their own words as far as practicable.)
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(The total number of questions is 19)
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(Question number 1 to Question number 7 are very short answer type questions.
Answer any five of these questions . Each question carries 2 marks.)
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(Question number 8 to Question number 14 are short answer type questions.
Answer any five of these questions . Each question carries 3 marks.)
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(Question number 15 to Question number 19 are long answer type questions.
Answer any Three of these questions . Each question carries 5 marks.)

SECTION- A (2X5=10)
Q1. we IS T HI7 100°, 98° 31X 92° E| THHT = 1T FHI0T AT HY |

Three angles of a quadrilateral are 100°, 98° and 92°. Find its fourth angle.
Q2.3 # AfT FIr 2 AOB =60° 8, a7 2 ACB aXTa< §
In figure, if £ AOB=60°, then « ACB is equal to




Q3.U= &t g foheor & Irf¥a foreg = 90° & oy it 7=+ Hiforu)
Construct an angle of 90° at the initial point of a given ray.
Q4. T TIST T &=t AT FIToT fSrEeht ST 3 cm 3T 4 cm 3T 5 cm g

Find the area of a triangle, whose sides are 3cm, 4 cm and 5cm.
Q5. T 5 VT e HEATSAN T AT AT Y |

Find the mean of first 5 natural numbers.
Q6. AFET 2,3,4,3,5,3,1,2,3 T TgTe AT I o1

Find the mode of 2,3,4,3,5,3,1,2,3.

Q7. U ke # | U AT Foctarst el T 30 AT | 6 AT AT ALAT & | FTRT TTL ST ¥ ATwAT
AT AT |

In a cricket match a batswoman hits a boundary 6 times out of 30 balls she plays. Find the
probability that she hits a boundary.

SECTION- B (3X5=15)
Q8.Forg . o Foreft | arq s &1 Ua ool 39 27 Favrew st § foraiorg #2ar 21
Prove that a diagonal of a parallelogram divides it into two congruent triangles.

QO.forg F¥ o Ua & ST (AT TS ST Si¥ Ueh &f AHia< TaTsh & = 2qd FBroqst e § aeraw
RIT
Prove that two triangles on the same base (or equal bases) and between the same  parallels
are equal in area.

Q10. ¥z I 3 Ta =TT ST e T ST FI07 T o T AT o (ohelt f6g T¥ AT HIT 7 AT
AR

Prove that the angle subtended by an arc at the centre is double the angle subtended by it at any
point on the remaining part of the circle.




Q11.T% FT il STiaT, I il BT & axra g1 9 =917 U f2orq U feig a2 Siar g1y sad &ior s[ra
o

A chord of a circle is equal to the radius of the circle. Find the angle subtended by the chord ata
point on the minor arc.

Q12.0% et % 9 far=rfeit &t F=mai (cm ®) FReferfea 2
155, 160, 145, 149, 150, 147,152, 144, 148
SATRET T TTEAH 7T Y |

The heights (in cm) of 9 students of a class are as follows:
155, 160, 145, 149, 150, 147,152, 144, 148

Find the median of this data.

Q13 37 &g &1 U 971 500 1< IyrA 9 FAwrfertra ararart e gt gor
2 =ra: 105 917, 1 f=a: 275 A, #s A =@ aai: 120 9%

A HeAT T T stferaRfora s

Two coins are tossed simultaneously 500 times with the following frequencies:
2 heads: 105 Times, 1 head: 275 times, No head: 120 times
Compute the probability for each event.

Q14. 2 Tgt aTer 1000 TRAT T Ag=a4T 94+ {36t 127 ¢ 3w Rferfe se forg fPro s &:

gREm # Sgeht it "5 | 2 1 0

qiaTl it J=aT 135 675 190

T=AT T T 37 THRATT A JTAFHAr 1 hrfory, oras
(i) TASHTET (i) TFH ASHT BT

(iii) FTE ASHTT BT

1000 families with 2 children were selected randomly, and the following data were recorded:
Number of boys in 2 1 0

family

Number of Families 135 675 190

Compute the probability of a family, chosen at random, having

(i) 2 boys (ii) 1 boy (iii) No boy.




SECTION-C (5X3=15)

Q15. Frg =< T By 7 vk oot 3 wer fog & T oot 3 | S T Tar frady et A
AATFATHSIT FaT B

The line drawn through the mid-point of one side of a triangle, parallel to another side bisect the
third side.

Q16.U% THa ABCD, fS/&# AB 11 DC g, 3 39T AC 3T BD 9%#9¥ O 9% Wfd=ea H3d gl F9IM0 foF ar
(AOD) = ar (BOC) &l

Diagonals AC and BD of a trapezium ABCD with AB II DC intersect each other at O. Prove that ar
(AOD) = ar (BOC).

Q17.u= st ABC it T=T #irfry, fS&# BC=7 cm, £ B= 75°, 3w AB+ AC= 13 cm &l
Construct a triangle ABC in which BC=7cm, - B = 75° and AB + AC= 13 cm.

Q18. U= FASATHTT @ it T3 T AT 3:5:7 31T IHHT TRATT 300m B TH @S FT &HAHA AT H2
|

Sides of a triangle are in the ratio of 3:5:7 and its perimeter is 300m. Find its area.

Q19. TAHferiad sitFst & U afiha araTear aed |t aaTu fSrEeht a3 Sfaare 0 - 5, 5-10 i ar
0 6 235125848 103 4122 8151

17 6 328596 87 1412

Construct a grouped frequency distribution table in which the class intervals are 0-5, 5-10 etc.
06 235125848 103 4122 8151

176 32859 6 87 14 12

The End



